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Il Semester B.A. Examination, Nov./Dec. 2014

(Fresh and Repeaters)
ENVIRONMENTAL STUDIES

Question Booklet Sl. No. 30’7261

Time Allowed : 3 Hours "~ Maximum Marks : 100/90

INSTRUCTIONS TO CANDIDATES

e 100 marks for students 0of2012-13 and onwards.
* 90 marks for students prior to2012-13.

—

. Immediately after the commencement of the Examination, you should check
that this Booklet does not have any unprinted or torn or missing pages or
items, etc. If any of the above defects is found, get it replaced by a Complete
Question Booklet of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, in the
appropriate space provided for the purpose, in the OMR Answer Sheet. -

3. Enterthe name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit
the Optical Mark Reader (OMR) system, spec:al care should be taken to fill
those items accurately.

4. This Question Booklet contains 100 questions carrying equal marks. All
questions must be attempted. Each question contains four answers, among
them one correct answer should be selected and shade the corresponding
option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only
with a black or blue ink ball point pen. If more than one circle is shaded /
wrongly shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the
Kannada version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the
OMR Answer Sheet is collected. After handing over the OMR Answer Sheet
to the Invigilator you may leave the examination hall.
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1. Population pyramids indicates

s+ a) Growth b) Age structure
c) Birth rate d) None of these
WO, &d@oca’a@r\’@}e‘gq VT WY
a) Wzt b) SO T3S
C) BWIZ TP d) oRTe e
2. Water logging adversely affects
a) Air pollution b) Productivity
c) Animal population - d) Soil pollution
Qe 2RMINBOR0TTINIED S foselanta
a) o0 TWRdF b) 231 eveans
C) TN ;'o’o@%ﬁ d) mm@ag
3. The river which supply large quantity of drinking water in Karnataka
a) Kaveri river b) Tungariver
c) Bhadrariver d) Yamunariver
002,539 BORCINT DEOMON e33¢ T30, 2980T SO
a) 53360 IO b) @vore I
C) 3t I d) oD=0T0 ID
4. Salumarada Thimmakka is known for
a) Tree planting b) Organic farming
c) Temple construction d) Road repair
ROLOROTT éaﬁgg aj@aog@ TBOTOHTIO
a) &0 eISROYIE, b) moTaRE et
C) e[S AIoF £ d) oF owed
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5. The major greenhouse gas is
a) Hydrogen
, ¢) Carbon Dioxide
BT I aﬁ@maﬁaﬁ TPTTT B0 RO
a) BWOWIT
C) PomOT Bt =

6. Aqua culture is related to
a) Forest protection
, ¢) Fish farming
BWO FAOID fadﬁﬁ ROWORRTI
a) 0t ROTTES
wh
C) eI T

7. The father of Indian green revolution is
a) A.S. Kahlon
c) K.S. Rao

2IOTBT BHTO T3,0808 LiTOROHD
a) Q.QA". TOTD’
C) 3.208°. COR°

8. Acid rain is mainly due to
a) SO, and NO,
« ¢) COandH,S
533, VN FITEAEIONMI TRV O
a) SO, =533 NO,
c) CO &2y H,S

R A

b) Oxygen
d) Nitrogen

b) ez
d) moTxIT

b) Land protection
d) Mineral protection

b) e =o08Es
d) 0z RoTTH

b) M.S. Swaminathan
d) Norman Bourlug

b) 0.07°. [ QOTH"
d) TOROFT WIN®

b) CO,and CH,
d) N,andHe

b) CO, &3 CH,
d) N, 33 He

SPACE FOR ROUGH WORK
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9. Hydrosere is a type of succession that occurs in

a) Rocks b) Soil c) Water d) None of the above
ceenliRel BC0R30320 BT WTIYTI) -
a) worodd e b) R, C) eOIY, d) odnRTER L,
10. Depletion of oxygen in water leads to
a) Death of fishes : b) Increase in nutrients
. ¢) Decrease in nutrients d) None of these
REORE), [T 2R030000CINIE WOTFIR)
: a) TN A b) @’ao?%faoéﬁ@cﬁ G
| c) TaEe03ns 383 d) cInPRe e
11. The primary consumers are
+ a) Herbivores b) Carnivores
c) Omnivores d) Detritivores
AR AN z;iﬁ?ﬁeﬁo
a) RO b) Rwomozo0nsd
c) R%, =02 RI0ADTONED d) ﬁdwﬁjmﬁo
12. Soil conservation deals with
a) Reforestation b) Contour planting
¢) Strip cropping » d) All of the above
Rea) FOTFFSO30 9T, BOWORATI
: a) OePOTRERD" b) BD0LRT TIROEIONY
| C) R F TR0 d) B0edT QTP
13. Sound is measured in ;
a) Pascal \b) Decibel c) Joules d) Amperes
RIN ] TOBIEIB), BBO0T LTINS 3
a) WORL® b) @dawer C) WO d) ©oRo’
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14. From long back in India the substance used to purify water is
a) Copper sulphate b) Alum
« ¢) Iron sulphate d) None of these

&ODROTOR LOTBEEY DETI), @b@@@%@#@o 2FROGTO R
a) BT A b) e30=5°
C) BWHTI Reeead : d) cinyce we)

15. Which of the following is more critically endangered animal ?

a) Pigeon “b) Deer
c) Crow . d) Tiger
B3 FNT OO 09,69 98¢ T LPDTOUIIYZ ?

a) 0P b) 230%
c) sn d) @

16. Rainwater harvestingis to

- a) Conserve fresh water b) Control of flood

+Cc) Bothaandb d) None of these
W% Qe0T FRONS B0 F900
a) A&REOT BT ‘ §) JestantVevelect)
c) ax3y b HoER d) oRREe 8

17. Damage to leaf structure by air pollutants causes

a) Dead area of leaf - b) Chlorophyll reduction
c) Dropping of leaves d) All of the above
03 BROF T TN AT oS SV0kRRIES TOFI
a) ASAPE) Bean's oy b) dR8RGe" VP00
C) 2BNY TOTONS d) 3330eDI e,
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18. The age of tree is calculated by its

SN - 445

a) Biomass b) Girth c) Height d) Annual rings

®oonY 5053:3:53‘* S0R FORD BC3VZT.

a) BeRTD b) wwys C) @80 d) ToXNFT SISFNED
19. The diversity within community is called \

a) Alpha b) Beta c) Gamma d) None of the above

RBRBE; as;éscﬁé:%oja@ %oeﬁﬁaqa_aod

a) B, b) weeso C) =M d) cn)ce e,

20. The study of relationship between organisms and their environment is termed as

a) Ethology + b) Ecosystem c) Ecophene d) Ecotone
BN Y WINY FWORT L3, e, FOORVYTIE, B3 O¢d FBC3089T
a) VPV b) @O=THRE C) VIRCYD® d) wdectdnes®

21. Expand BOD

« a) Biochemical Oxygen Demand b) Bioaccumulation Oxygen Demand
c) Biophysical Oxygen Demand d) Bioleaching Oxygen Demand
BOD oD 97,8 B
a) WOIREBANBE® L5§LR BRR, 0T b) 2)03peesBy@NSERI” wIrT® QR0
C) LOSREQRBET L38%D" QRT3 00° d) 2003Redeson’ BI%w® B3I, 0%

22. Wind mills are used to generate

» a) Electricity b) Thermal power
c) Solar power d) None of these
MoP NOES0000T AT, YVB DA T
a) Ay 38 b) @o=nea0 B3
C) RPUBS d) cInRTe e
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23. Endangered species are listed in
- a) Red Data Book b) Green Data Book
c) Blue Data Book d) White Data Book
LPII0LIIYT a’jzp"edmfﬁi TODORED DR
a) o) Bk PRT b) 23> &BR&%e PFT
c) Qe BR&d DA ‘ d) WP @N&S PHFT

24. Kanha National Park is located in

a) TamilNadu - b) Karnataka
¢) Madhya Pradesh d) Andra Pradesh
B3, 09,0030 VTR AT 7Y
a) SRPOTTO b) sorts
C) =g BIe3S d) @0z mies
25. Biogas is a mixture of

« @) Methane and Carbon Dioxide b) Methane and Acetylene
c) Methane and Oxygen d) Carbon Dioxide and Butane
20T LRV VWO WD
a) QR B VOMOT T 58 T b) Qoegier* @08y LR’
C) QeTFe® [ BRLST " d) aomes @ o8 B° @3 Rt

26. The community which initiates the ecological succession is called

a) Seral community b) Pioneer community
c) Climax community d) Stabilised community
TORTIZE WHTIFFONR), YVREBIRRVRII D

a) TS FRRD b) FReo" FSwe®

c) 3 BRT AeD d) Ro3E Ases
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27. Dams are useful in

a) Flood prevention b) Irrigation
c) Power generation s d) All of the above
PIFTANG YVTOITS
a) BB AON0ZED b) Qeoowd
C) T HUBITS d) 8330 e,
28. Mineral resources are extracted by a process called
a) Weathering b) Eroding « C) Mining. d) None of the above
0 ;-Joa’gdgl f-do,-n;a:o’od 303
: Q) DIOWINVEBTED b) 0300 C) Nnednodd d) conRTe @)
| 29. A grassland ecosystem is dominated by the presence of
» @) Shrubs b) Pines c) Trees d) Grasses
TILOMOTLY FTWORT ajsdi@om BT VO LA
a) JPTNH b) AEnsd c) RoonEd d) BoeRELONED
30. The endangered species in India is
a) Kiwi b) Lion tailed Macaque
c) Kola d) Kangaroo
YPTSTE) WTIBT e30e3TATHR T ,
}‘ a) 30 b) 0% PO 3RS
! c) B d) sonde
31. Karnataka’s State bird is
a) Golden backed woodpecker b) Hornbill
: « C) Rose ringed parakeet: d) Indian roller
Foor 838 Uaz%d e_u’za
a) zsa:id zﬁag ROTBOEIN b) aaqtzw‘
C) TORY) GVONITT REY NP d) RoB0DF BeeeTs
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32. The project tiger area inKarnataka

« @) Bandipura b) Bannerghatta
c) Bankapura d) Bheemeshwari
BIOF 38T TOOTOI0
a) woReRT b) uéeda;’y%

C) WOTRT d) Dee3.0

33. Tsunami happens due to

34.

35.

36.

a) Above ground volcanic eruption - b) Under water earthquakes
c) Water pollution d) Global warming
ROTOQICIN AT EN BTOOTINIZT

a) 2RO ﬁoe@awﬁd 230 CRW0D b) RNTE BFEET 23RT0T

c) WO RROTY, d) 2nEE BB

The most effective nationwide immunization programme for children is called
a) TT b) DPT

c) Pulse polio d) BCG

33T, @32303 2OET00NG SRR ABREHT ©RE BB FIOIF BTO

a) -4 b) Qe )
c) mer Bpedaine d) wa’

Rainfall is measured by , ‘
a) Raingauge b) Seismograph c) Lactometer  d) Hydrometer

o903 BB, LTI 00,

a) DoYRRRT b) 2RREF c) RdReoetst” d) X TR, T
Ranganathittu in Karnataka is known for *

a) Lion y b) Tiger « C) Elephant d) Bird

BIOF LIBT3 TONSEI) AL, TR

a) 0T b) =09 c) <3 d) =3

W
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37. Which of the following State has highest literacy rate in India ?
a) Karnataka b) Kerala c) Punjab d) Bihar

WR0ITE L3¢ T3 080 AITTIAD Tz
a) 3oF 3B b) 3ec% C) TJoW® d) W&o

38. Night blindness is due to the deficiency of

« @) Vitamin-A b) Keratin c) RBC d) Calcium
9890 20538, QT3 FRTBR00TITS "
a) DRI - b) Feooess® C) ST°WA d) 5,900

39. UN conference on human and environment was held at
a) Japan b) America c) Stockholm d) Canada

TR TF) TORTE, BOWOPAT DB FOF BRI ST AY
a) W b) 235005 C) MFBRE®  d) 5w

40. The World Environment Day is celebrated every year on
a) 30" September  b) 14t November ¢) 5t June d) 17t March

D3, BORC OVRS, T A B0 BWORTINIZT
a) AEEeo30 b) SBowo® 14 c) mRI*5 d) Snwee17

41. The development which causes minimum damage to the environment

a) Rapid development b) Sustainable development
c) Progressive development « d) All of the above
ﬁ@#d@_& cj%&omn’d eﬁzpdo@bcﬁaa
a) P, V[ b) @D S o)
| C) 38R LRFD d) 83 BoedT DO

| SPACE FOR ROUGH WORK
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42. Preference to be given for plastic waste management
+ a) Recycle b) Reuse
c) Reduce usage d) None of these

TRAF T, DeIF BESOD BS00D DGO
a) oo YUBIT b) &3 evsEodeen
C) TR W : d) cRyTe B

43. The movement of inland water towards sea water is called

« a) Estuary b) Wetland c) Aquifers d) Allof the above
2o QT 3308 AT, LeT B3BOT0E eyen
a) 2ARD b) Qe0o0 e  €) edT TPO d) B0edT VP

44. The stimulant present in coffee

a) Tannin « b) Caffeine c) Serine d) None of the above
FIQONATI VS ewT A
a) &’ b) 33s° c) A0S° d) cnmEe @Y

45. Hepatitis is caused by

a) Bacteria b) Protozoa + c) Virus d) Helianthus
e33R QT TTED 7
CYRRADE. elevip b) Zpcdeceme c) Fo° d) &ed3ae

46. Acid rain water has pH

o a) More than 5-6 b) Less than 4-5
c) Morethan7 d) Equalto 9
So¥cs> 2¢0% pH 3 ZRRe
a) 5-6 §03 w), b) 4-5 303 BaEdd>
C) 7 308 T, d) 9 g TR

SPACE FOR ROUGH WORK
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47. Urban flooding can be reduced by '

» a) Ground water extraction b) Rain water harvesting
c) Controlling water contamination d) Saving aquatic life
ST B0, B3 008 VODOGRTID
a) LoBRFOT INHI b) &0% Q6D BROI,

C) Q0T OIS SBOI0NT d) =T RTEE

48. Expand form of UNESCO
+a) United Nations Educational, Scientific and Cultural Organization
b) United Nations Emergency, Scientific and Cultural Organization
c) United Nations Educational, Scientific Company
d) None of the above

UNESCO & 0% 3 e

a) ORVFHE® JeRS” FWIFERIST, F0LIT* &,00° FOTO® BNF IR
b) 03005¥3ce Sema® DR, R oLsT* 00 FOTL® LNF FeieRI®

C) ORI FeRIT DWIFCRIST, 7 0t3T* BOTR

d) cInxTR @,
49. Nagarahole is an example for
a) National park b) Bird Sanctuary
c) Hill station » d) None of the above
DINTBRFOIN ATIE, GVTITTH ‘
a) T28ye0D LTINS b) 3G
C) I3 d) coRITe ¥
50. The gas used by plant for photosynthesis
a) Nitrogen b) Oxygen
= ¢) Carbon Dioxide d) CarbonMonoxide
B, 8R03eRES 3,0300100) SO L
a) AOVXIB b) ©e)%ss
C) BOMOOT T 58 & d) TWF® BRDT,

SPACE FOR ROUGH WORK
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51. Increased nutrients in lake lead to
a) Saponification
¢ C) Hydrolysis
ACRESTNES), e;—fa&&aoos CIATADTASIAL
a) AT CRS”
c) DO

52. Expand form of HIV
+ a) Human Immune Virus
c) Human Internal Virus

HIVo® 0% 2 dew
a) BRI 9BVNFe FTH
C) BRI VOV I FT*

b) Eutrophication
d) None of the above

b) o3P EeRD
d) o @e

b) Human Integrated Virus
d) All of the above

b) BREo* Qotsreede FTH®
d) 33 RS DR,

53. The number of recognized biodiversity hot spots in India

a) 4
c) 14

POSOTRI wis) 226 PRI Sered

a) 4
c) 14

54. HIV is transmitted through

a) Water
- ¢) Blood transfusion

HIV 859000630320 0@0e)Esd
a) e
C) TgxpTes

b) 2
«d) 3

b) 2
d) 3

b) Air
d) Food

b) mo®
d) e&d

SPACE FOR ROUGH WORK
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55. Bhopal Gas tragedy occurred due to release of
~a) Methane b) SulphurDioxide
c) Methyl Isocyanate / d) Potassium Cyanide

R RO BOTBEE DTN KR eOBOITTO
a) QOeTIeS* b) nogss o =t &
C) GOF WRPERODIeEs* d) FpeRR0300RODIT’

56. The mineral extracted in Kudremukh of Karnataka

a) lron «b) Copper .
c) Coal d) Gold
BOF E3BT3 BOTOT0DTES) | #ozi@#od DR B3 SRETT

a) é?%sa b) oy

c) 39T d) z&g

57. Environmental activist Medha Patkar has taken up issues related to

a) Narmada Dam b) Bhakranangal Dam
c) KRS d) Almatti Dam
TORTTO BeTo FoLFFO TR B, FOLORRTOZ BRCTIRTI

a) DROF T LB, b) oB[oNe® WEsEe),
C) 3.%50°.0%°. d) SO T,

58. Global warming leads to

a) Increase in temperature b) Decrease in temperature
c) Increase in light « d) Airpollution

2IONET TTRITDOTINOI TOFTITI

a) PTINTEY B b) TIPS B3

C) WY Ty d) 50030 IR,

SPACE FOR ROUGH WORK
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59. Demography deals with the study of
a) Genetics
c) Biodiversity
[BReR B3 AT 3RO eﬁd?so:bd

¢ b) Human population
d) None of the above

a) 39TR, b) xS0

C) Ve FIGS d) cdRRTe 8
60. Minamata disease is caused by

a) Cadmium b) Lead

c) Mercury d) Nickel

Q0TI SIS FOTED

a) TR0 b) ez

C) TOWOR d) J8e*

61. Salinity in water is mainly due to the presence of

a) Nitrates and phosphates * b) Sodium chloride
c) Sulphates d) Carbonates and bicarbonates

Qe0s ©RFE0E, TTED
a) F3ees TR PR’
c) z)’eé_gmﬁeéo

.b) Reeradro 33
d) sovdnreRets® R tForier et s

62. The hot spot of India is
a) Sunderban
c) Sunderland

b) Caribbean
« d) Western Ghats

2IOTITI WRBIED
a) ROOTTLS®
C) RO0TT* &R0

b) FOWADT
d) 3O PRI

SPACE FOR ROUGH WORK
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63. The process of converting organic waste to wealth

L)

65.

66.

a) Mari culture
c) Pisciculture

b) Vermi culture
d) Agriculture

AOBODT BYTNER), 23 8030000053 ROTZTNRIES AT

a) RAB0T, T
C) QOEIMOF

a) Algae
c) Eichronia

RWOTORO qm;o:bq BROT, BRAWRD AR
a) eﬁc;\

C) 0BRCTTIOD

Noise causes
a) Headache
c) Suffocation

52% me@samm@s 3033

a) 3S3neR)
C) VRTINS

b) TY g
d) ZeEaeDd

. The pollution indicator plant in aquatic ecosystem

b) Hydrilla -
d) Typha

BT
d) &

b) Nausea
d) All of the above

b) =008
d) 0O TP

The monument which is badly affected by air pollution

a) Gommateswara
c) Qutabminar

« b) Tajmahal

d) Mysore palace

20030 d:a@z’;@od @3?303 FTOQTTT03TD m@d@

a) need@ess
C) BBNT QO™

b) sverRmer
d) SHRAT TS

SN - 445
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67. Ozone layer is present in

-a) Troposphere + b) Stratosphere

c) Mesosphere d) lonosphere

B3 FPNT 030 BISTE) 2uzdnes® [TRYTO ?

a) t4R,eFPeACIT® b) =3 t8Re3cddT®

C) QOERREROIT® _ d) 20DJRECT®

68. Photosynthesis takes place in the presence of

a) Chloroform * b) Sunlight
c) Phosphorous d) Polymer
cﬁ%éﬁo@d% 30301 BBFOOINT L0
a) 33PN b) APT0z3
c) Joxs d) &9RT*
69. UV rays are responsible for
+ a) Skincancer b) Typhoid c) Asthma d) Diabetics
933604 STEINPOT BN TR0
a) WOFFEI0° b) &soctow C) @RI d) SOPOROH®.
70. Which of the following is the national animal of India ?
a) Lion b) Tiger + ¢) Elephant d) Peacock
17003 T3e3e3 Tady, 0l TS CIRTTO ? |
a) 0B b) =09 c) <3 d) S
71. UNO stands for
« a) United Nations Organization b) United Noble Organization
c) United Nuclear Organization d) United Notable Organization
UNO & Q5,8 SR
a) cdogEdee Jem, SNF R’ b) o0 Eice Seewe® SNF e

C) ORI BRBe3TT Shigetory) d) oxogei® deedense® Shtaie ey
SPACE FOR ROUGH WORK
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72. In India, the coldest desert occur in _
% a) Mount Abu b) Gujarat c¢) Rana of Kutch d) Ladakh and Spiti
(0SE 93,08 563 RoTHBRD :
a) 0L €2 b) Romo® c) oI wEr B d) wEE BB 48
73. The fuel obtained from the sugar containing plant material is
a) Ethanol b) Propanol c) Methanol d) Butanol
#ﬁd 2030V NEBOOTS LUBS BREB Q0TS
a) APIS® b) SpTseer c) SBT* d) 2R ez
74. The organization responsible for publishing RED DATA book is
a) IUCN ~ b) WWF c) GAAT d) CITES
| 305y W&d s@gﬂ%aﬁsﬁg{ 50OROR :30:20
a) IUCN b) WWF c) GAAT d) CITES

| $ 75. The first established atomic power plant in India is at
j +a) Kalpakam b) Lucknow c) Tarapur

d) Dehradun

| RTBEY FATLO AVAT 0 AT
j a) 3wgo b) &R C) TP d) BB
‘
‘ 76. Which of the following mineral is extracted in Bellary in Karnataka ?
| a) Iron b) Gold « ¢) Copper’ d) Silver
i BIOF 13BE3 LR, 00IQ, TBRTBE30E 0%
? a) B b) c) o) d) 3¢,
§
§ 77. The logo of WWF represents

a) Redpanda b) Polarbear  « c) Tiger d) Giantpanda
| WWF 3 ooogis
a) S oo b) Fpeworer'  ¢) DD d) r}oes* Toow

SPACE FOR ROUGH WORK




SN — 445 -20- _ e

78. Which of the following industries, largely depend on forest products ?

a) Cement b) Paperandpulp c) Toothpaste d) Detergent
83 INT CBoss ModFned Siela-tol e@ﬁr@ﬁg{ SBOOWAT
a) 2300 b) Fedor o Wex c) e Fea®,  d) @woTEoE

79. Economically unproductive land is known as
a) Wetland b) Wasteland c) Grassland sd) Greenland
SRFTION DTTOIT R
a) QeTIWO LR b) womdegey  c) Boemmed -d) BT g

80. The plant species grown in deserts are called

+ a) Xerophytes b) Psamophytes c¢) Hydrophytes d) None of the above
BTN BFotBoBE A7 s “
a) RoFE b) mIeegr, ) R  d) cdneyne ve

81. The interlinking of food chain in an ecosystem

a) Food court b) Food junction «c) Foodweb d) None of the above
320 FOTINS 23%0300F
a) ST DOOD b) &8 R08 C) €530 ® d) o ee)

82. Management option for air poliution
a) Regulation and standards p » b) Emission control
c¢) Transport planning d) All of the above

OO WRIF, Q008 g BSETS BN |
a) QDo =B =08, b) BRrdoDog ) wBI o3nens  d)eeds DO

83. The hereditary effect of radiation

a) Nausea ot b) Deformity c) Insomnia d) Dementia
DITEINS IRT0T WOFID
a) =008 b) eonazed C) I3 2300TNE d) =S

SPACE FOR ROUGH WORK
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84. India has the world’s largest deposit of :
a) Gold » b) Copper c) Mica d) Diamond

DTS¢ 0TSO QTN BRTCIN Rowx) -
a) u3 b) o C) % worned d) &%
85. Identify the non renewable energy resource
a) Solar panel b) Coal V c) Windmill o d) Fuelcells
ROTIBYRSINCS 5_@053&3{ ToTO8R .
a) ARt WIST  b) TQTIN C) Mo NJL3 d) wons 3ee3nsh

86. The most prevalent form of land degradation in India
a) Desertification b) Landslides c) Mudflow  «d) Soil erosion
OTBRAT e N CIDIgGIAL Jove 308, DGR
a) SOTYIRQ0eETE  b) ead =eddd  c) W) NE d) RRNS

87. Excess fluoride in drinking water is likely to cause
a) Pneumoconiosis b) Reptinosis ¢c) Fluorosis d) Chlorosis
BRI DTS RS 37 903 ézsawm@dd G3felonIne)
a) IRVBREBEUAT  b) TouRRRT  C) FRIPEAF’ d) gredeear®

88. A non-point source of pollution

a) Urban and semi urban runoffs b) Industries
c) Sewage treatment plants « d) Al of the above
30T, WORNYE SR,
a) SNC TN YUTSNONE BOsY) b) 3roodnsh
C) 23003 JeTO ;‘o’oﬁdm SRIBND d) eI ezp
89. Smogis
a) Natural phenomenon b) Colourless
s ¢) Combination of smoke and fog d) All of the above
f-—o%ne
a) JANF 8o b) 2veg T
C) Tn 0 e30e3 003 e d) 0edT e
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90. Excess of iron in water imparts to cause

a) Colour b) Taste v ¢) Hardness d) All of the above
RO, 08 T3 HoTEd WeddVE '
a) wey b) o3 c) N@II d) S0eds 2P

91. Ozone layer thickness is measured by
a) Millimeter * b) Micrometer c) Decibels d) Dobson units
L2l IO 535153&3{ €98303005 TBURORIV
a) 0OLOET® b) SBmeoeeso® c) daeier d) @AD" O

92. Major objectives of family welfare program in India is

a) Disease control s b) Population growth control
c) Pest control d) Weed control
POT T3e3TT B0 C30eLT0 WAR® emcfgbeaﬁ
a) 33900 ACDE e b) %SR085), DO D
C) 3ee3 Q00 eD d) 3¥J0D0Zed
93. The average life expectancy around the world is currently
« a) Decreasing b) Increasing c) Static d) None of the above
TEooess dodoagd ATRO SRRV DO 0X0NTY,
a) 3eeRET b) HTHET C) RRoRS d) cdnRce e
94. Kaziranga national park is famous for
a) Tiger b) Musk deer & C) Elephant d) Rhinoceros
FOLITON TR, L0 QVTIO.RT F,AT03 39,68
) 3O DFGT Y .
a) @O b) 3850 &N c) &3 d) Feowomyn
95. Indian bustard has becpme endangered species due to
a) Deforestation b) Desertification c¢) Hunting « d) Climate change
T3 w#wzs@r e;—q’z‘aojaa WO 02RO FON FeTed TTd
a) ©oryme3 b) &otbogieanesses ¢) wdeed d) ©BRT WRHRED
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96. Communities more vulnerable to invasion by outside plants and animals

a) Temperate forests ¥ b) Tropical evergreen forests

c) Oceanic islands d) Mangroves

TOARYT 533,59 3303 RANST ST, QRO BTN

a) LdozTTeeF TR D) ERRTCT DWO N ET? TR

C) CdR AT 0,0 d) &R0 3,655
97. Biochemical oxygen demand measures

a) Industrial pollution « D) Air pollution

c) Noise pollution d) Domestic waste

BT BITWTTD %m@éoﬁadg{ LT 00T T
a) mo0s :03053 b) oo :mog C) s%m@a; d) nx e

~C

-

98. International Day for ozone layer preservation is observed in

a) 151 August b) 26" January «c) 161 September d) 22n¢ May
@oédm%ewo NYSADIC ROTFCI O
a) 15 &’ b) 26 %330 C) 16 AZoeoo* d) 22 Zo¢
99. Indian bio pesticide is
a) Casuarina b) Eucalyptus
c) Neem v d) Parthenium
2003 0T BELITOTT
a) JPJE3Oo b) Jee*Ad =0T
C) 2WCNT 30T d) TFFeeo
100. The flammable substance in biogas
« a) Ethane b) Butane c) Methane d) Propane
08 LROT BB L2 ‘
a) TS D) 20:0.t3e° C) TS’ d) LpTe*
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